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# ethtool -1 ethO

# cat /proc/interrupts|grep "CPU\|ethO"
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# cat /proc/softirgs | grep "CPU\INET"

# mpstat -P ALL 1
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kenwv:onl03.arl.vustl.edu> source /users/onl/.topology.csh
kenv:onlO3.arl.vustl.edu> =sh $nlp2

Last login: Mon Jul 17 16;26:4
kenv:onl3g.arl.vuscl.ed(

Server listening on UDP porct 5001

Receiving 1470 byte datagrams Server (Udp)

UDP buffer size: 64.0 KByte (defaulrt)
[ 3] local 192.168.1.48 porc 5001 connected with 192.168.2.48 port 32771

[ ID] Interval Transfer Bandwvidth Jitter Lost/Total Datagramns
( 3] 0.0-30.0 sec 725 NBytes 203 Mbits/=ec 0.002 m= 0/517244 (0%)

om onl03.arl.wustl.edu

-

kenv:onl03.arl.vustl.edu> source /users/onl/.topology.csh
kenw:onlO3.arl.vuscl.edu> ssh {n2p2

Last login: Mon Jul 17 16:16; tl.edu
kenv:onlOZ.arl.vuscl.ed ipert -c¢ nlp2 -u -b 200m -c 30

Client connecting to nlpz, UDP port 5001

Sending 1470 byte datagrams Client (Udp)
UDP buffer size: 64.0 KByte (defaulrt)
S] local 192.168.2.48 porc 32771 connected wich 192,1686.1.48 port 5001

ID] Interval Transfer Bandwvidth
5] 0.0-30.0 szec 725 NBytes 203 Mbits/=ec
S] Server Report:
5] 0.0-30.0 sec 725 NBytes 203 mits/=s=ec 0.002 m= 0/517244 (0%)
S] Sent 517249 datagrams
env:onlOzZ.arl.vuscl.edu> .
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Minimum-sized “Raw”
Ethernet frames

Minimum-sized
Ethernet frames
carrying TCP/IP data

Maximum-sized
Ethernet frames
carrying TCP/IP data

Preamble and Start-of-

Frame Delimiter 8 bytes 8 bytes 8 bytes
Ethernet Header 14 bytes 14 bytes 14 bytes
TCP/IP Headers N/A 40 bytes 40 bytes
Payload 46 bytes 6 bytes 1460 bytes
Ethernet Frame-Check-

Sequence 4 bytes 4 bytes 4 bytes
(E;t::rnet Inter-packet 12 bytes 12 bytes 12 bytes
Total Packet Size 64 bytes 64 bytes 1518 bytes

Actual Bandwidth
Consumed (i.e., packet
size plus framing bytes)

84 bytes (672 bits)

84 bytes (672 bits)

1538 bytes (12,304 bits)

Link Speed 1 Gb/s 1 Gb/s 1 Gb/s
Theoretical Maximum 1,488,095 packets per 1,488,095 packets per 81,274 packets per
Frame Rate second (approx.) second (approx.) second (approx.)

Theoretical Maximum
Throughput

547 Mb/s (approx).

71 Mb/s (approx.)

949 Mb/s (approx).




Maximum Throughput (Mb/s)
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Interrupts Per Second
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* Packet polling
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ENTRY(__setcontext)

>
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ucontextSEI)

* NESsigprocmaskifi,
* spin lock In kernel
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int

/* Save argument since syscall will destroy it. */
pushqg $rdi
cfi adjust cfa offset(8)

/* Set the signal mask with
rt sigprocmask (SIG_SETMASK, mask, NULL, NSIG/8). */

leaq OSIGMASK(%rdi), %rsi

xorl $edx, %edx

movl $SIG_SETMASK, %edi

movl $ NSIG8,%rlod

movl $__NR rt sigprocmask, %eax

syscall

popq $rdi /* Reload %rdi, adjust stack. */
cfi adjust cfa offset(-8)

cmpg $-4095, %rax /* Check %rax for error. */

jae SYSCALL_ ERROR_LABEL /* Jump to error handler if error. */
sigprocmask(int how, sigset t *set, sigset t *oldset)

int error;

spin lock irqg(&current->sighand->siglock);
ITf—(oldset)
*oldset = current->blocked;

error = 0;
switch (how) {
case SIG BLOCK:
sigorsets (&current->blocked, &current->blocked, set);
break;
case SIG UNBLOCK:
signandsets(&current->blocked, &current->blocked, set);
break;
case SIG SETMASK:
current->blocked = *set;
break;
default:
error = -EINVAL;

}
recalc sigpending();
spin unlock irg(&current->sighand->siglock);

return error;
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